RIZVI COLLEGE OF ARTS/SCIENCE & COMMERCE.

5, N Ist UNIT TEST M.MARKS 25
COMMERCE SUB:BOOK-KEPPING & ACCOUNTANCY TIME-90 MINUTES
Ql} Define the following terms. (5 marks)

1) Capital. 2) Goods. 3) Bad debts. 4) Expense. 5) Creditor.
Qll] Classify the following accountsin Personal,Real and Nominai'. {5 marks)
1) Machinery A/c. 2)Mr.Bagira Afc. 3) Outstanding wages A/c. 4) Rent A/c.
5) Indian Railways A/c. 6) Goodwill A/c. 7) Sundry Debtors A/c. 8) Live stock A/c.
9} Loar; A/c. 10) Cash A/c.
Qlil] Jjournalise the following transaction in the books of Arman Stores (15 marks)
2023 - September
1) Started business with cash R's.500000,Furniture Rs.50000 and Motor Car
Rs. 150000.
3) Purchased goods from NMir. Mogli for Rs.100000 @10% T.D.
5) Purchased Laptop for 735.40000 @28% GST and the amount paid by RTGS.
8) Sold goods to Mr.Ltumbo for Rs, SOOOO @5% C.D. and received the amount in cash
12) Paid to Mr.Moli Rs.88000 in full settlement of his Afc.
16) Purchased Shares of llo Ltd for Rs. 50000.
18) Cash Pur chase Rs.40000.
22) Paid for Life Insurance Premium Rs.15000.
24)Re.ceived Dividend Rs.5000
26 Paid to Amar Rs. 10000 on behalf of Akbar.
+8) Purchased Furniture for Rs.19000 and paid carriage Rs.1000.

30) Paid Salary Rs.20000 to Mr.Motu.
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Q.1] Select the correct answer from the options given below and rewrite the sentences :-( 5)

1) A LawyeriS...ovcciciennnne

a) a Professional person b) a Businessman c) an employee
2) Is the link between producer and retailer?

a) Consumer b) Wholesaler ¢) Manufacturer
3) The problem of distance is soived by.....cccccrecrnnnee.e. '

a) Bank b) transport c) warehousing
4) is the link between producer and retailer.

a) Consumer b) Wholesaler ¢) Manufacturer
5) Return in business is called..........ccueveee...

a) Fees b) salary ¢) profit

Q.2] Explain the following terms/ concepts.  (Any Two) @)

1) Economic Activity
2) Retail T'rade

3) Business

4) One Price Shop

Q.3] Distinguish between. (Any Two) ®
1) Wholesaler and Retailer.

2) Industry and Commerce.

3) Departmental stores and Chain store.

Q.4] Answer in brief. (Any Two) (8)
[) State any four features of business?

2) Write any four services of retailers fo consumers?

3) State any four Auxiliaries to Trade?




SECRETARIAL PRACTICE

EXAM : 15T UNIT TEST TIME : 1% Hrs.

sttd. XI (Commerce) Mark : 25

Note : All questions are compulsory .

Q.1: Select the correct answer from the option given below and rewrite (5)
the statements.

(1) is the oldest type of secretary.

(a) Company Secretary (b) Personal Secretary
{c) Secretary of Government Department

(2) Only can be appointed as a secretary.

(a) an Individual (b) a Partnership firm

(c) a Joint stock. company

(3) Indian Partnerskip Act was passed in the year

(a) 1923 (b) 1932 (c) 1956
(4) A Sole propriet orship has owner / cwners.
(a) One (b) Two (c) Five i
(5) The is/are elected representative of shareholders who manage affairs of

the Company.
(a) Secretary  (b) Directors (c) Auditors
Q.2: Explain the following terms any two out of four
. (1) Perpetual Succession
(2) Secretary
(3) Confidential Officer
(4) Foreign Company
Q.3: Distinguish between any 2 out of 3
(1) Personal Secretary & Company Secretary
(2) Private Company and Public Company
(3) Sole Trading Company & Partnership Firm

Q.4: Answer in brief (any 2 out of 3) (8)

(1) Define a secretary ancl explain the features of Secretary
(2) Define Joint Stock Company and Explain its Features.

(3) Describe the Qua':iﬁ'és of a Secretary




. ‘ UNIT TEST -2023
Class: XI (commerce) _ M.M: 25

Sub: Maths : : Time: 1-% hrs

Q.1.A) Select and write the correct answer from the given alternatives.[7]
(i) If w is complex root of unity then (1+w?)* is ...........
@1  (b) -1 () -i () i

(ii) Deciles divide a distribution into‘n’ equ.al parts n=?

()9 () 10 (c) 4 (d) 100
(i) The value of the determinant is ... covveen s if any two rows (columns) are identical.
(a) changed (b) zero (c¢) unchanged (d) none of these

(iv) 1t percentile is greater than the 1% decile.

(a) true (b) false (c) both (d) cannot determine

(v) What is (8-6)! =.....ccoeev ..
@1 (b) 2 (©) 3 @) 4

(vi) The conjugate of 3 — 2iis..............
(@ —3i ()3 — 2i (©)3 +2i (d) -3

(a) 0 (b)ad — be ()1 (d) ad + bc



(B)Attempt any two of the f.oilowing.[4]
e ' . 4 7
i) Find the value of the determinant |_7 _ 0|
ii)Express (2 + 3i)(2 —3i) in the form of a + ib.write value of a and b.

6!-4!
4!

iii)Compute:

Q.2.A) Attempt any two of the following.[6]
.. 1)The heights in (cin) of 10 students are given below: .
- 148,171,158,151,154,159,152,163,171,145.
Calculate first and third quartile.
ii)Solve the; quadratic equation 8x2 + 2x + 1 = 0.
iii)How raany three digit numbers can be formed from the digits 0,1,3,5,6 if repetitior:s of

digi’s (1)are allowed (2)are not allowed ?

x—1 -x x-2
iv)Find the value of x if 0 x—-2 x-3|=0
' 0 0 x—3

13) Attempt any two of the following.[8]

(i) Calculate D7 and P23 for the following data
34,53,42,39,40,35,45,51,52,57,62,47,50,63,55

(i) Find the square root of 1+4+/3i.
(iii) Solve the following equations using Cramers Rule.

x+y—z=2, x=-2y4+2z=3, 2x—-y—-3z=-1.
(iv) Find n , if:
n 4 3
6! 8! 6!

skl
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FYJ.c. 15TunirTest ECONOMICS MARKS: 25 DURATION: A% HRS.
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Q.1.) A. CHOOSE THE CORRECT OPTION 3
i. Key points in Lionel Robbins Definition
(a) wants are unlimited {b) Means are Limited (c) wants are not gradable
(d) Means have alternate uses
Options: (1)a andb (2) bandc (3)a,bandd (4)a, b,candd

ii. Arrange inthe order of Evolution of Money
(a) Plastic Money (b) Paper Money {c) Electronic Money (d) Credit Money
Options: (1) b,d,a,c (2)a,b,c,d (3)d,c,b,a (4)cb,ad

iii. D7 from the Given Data: 4,5,6,7,8,9,10,11,12
Options: {(1)7 {2)9 (3)10 (4)12

Q.1.) B. COMPLETE THE CORRELATION ' 3
i. Necessity: [ ] : Comfort : \Washing Machine
ii. Free Goods : value inuse:[______ 1:Value in Exchange
iii. Animal Money: Cow : [ 1 : Plastic Money

Q.1.) C. GIVE ECONOMIC TERM 2
i. The acts for exchanging Goods for Goods.
ii. Value of Data which divides the whole set of observation
in to four equal parts '

Q.2.) DISTINGUISH BETWEEN (ANY 2) 4
i, Quartiles and Deciles
il. Metallic Money and Paper Money
ifi. Value in use and Value in Exchange

Q. 3) ANSWER THE FOLLOWING 1QUESTIONS {ANY 2) 4
i. Calculate Q3 from the Following Data: 20,28,31,18,19,17,32,33,22,21
ii. Explain the Characteristics of want
iii. Explain the Qualities of C.ood Money

Q.4) STATE WITH REASCNS WHETHER YOU AGREE OR DISAGREE q
WITH FOLLOWING STATEMENTS (ANY 2)
i. Value in use and value in exchange are the same.
ii. There are no difficulties in barter system.
iii. There is no difference batwing Quartiles, Deciles and Percentile

Q.5) ANSWER IN DETAIL (ANY 2) - 5
i. Explain the basic concep’ts of Macro Economics
ii. Explain the Difficulties off barter system

p WCn o oes o mml oo E Sl Mol eneers
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PROSE:

QI. Read the extract and complete the activities: 10 Moxks >

Colonel then said, “By all means, I am glad to know that you brought an {ndian flap,”
After pe hour of steady going, we cut across from the south face and started up the wes! side
where we had to pass up a steep line of rocks. This was slow and difficult. Once we had cleared
these, there was nothing barring ot way 10 top but a snow-covered inelin, sloping less and
less as it neared the top.
These last sixty or seventy feet up the top were noi dangerous. But we kept the same steady
pace. And we reached the small, flattened summit almost togcther. .
During ihe last fifty feet from the peak, Hilary and I were moving about twenty feet apart. We
u. tied together with a mp%ﬁ of the time the rope was loose but when we went over
dangerous ground, we drew it % is rope was a symbol. It tied us together. One would not
move without the other. We were not to individuals but a team. | have been asked many times,
“Who was first?” When we were within reach of the summit: I did not think of who was going
to be “first”. I am sure that Hillary was not thinking that, climbing takes all your attention. You
have many more important worries.
What does it matter whether I reached the top first or Hillary? Our main thought was that both
of us reach the top. We had to. One couldn’t d it alone.

I. Complete the web on climbing the summit by Tenzing and Hiiiary. (Z Marks)

e i

Ny i —

™y Climbing the summit by
-7t Tenzing and Hillary
L

{ T

. L \\i ;
: i

|

o

2. Why didn’t it matter for Tenzing to be the first one to reach the summit? /2 Marks)
3. Pick up one sentence to show one quality of Tenzing that you have zppreciated the most

in his story. Explain your answer. . (2 Marks)
4, Explain: “The rope was a symbol. (2 Marks)
5. Do as directed: ‘ (2 Murks;

a. Most of the time Ihf; rope was loose. (Make Negative)
b. You have inany more important worries. (Change the dfgrce;

CPOLM:

(32, Read the given extract and complete the activities: (6 Marks)




Eight years have passed

Since I placed my cherry seed in the grass.

“Must have a tree of my own,” I said,
And watcred it once and went to bed .
And forgot; but cherries have a way of growing,
Though on one’s earing very much or knowing.
And suddenly that summer near the end of May,
I found a tree had come to stay.
It was very small, five months child,

Lost in the tall grass running wild.
Goats aic the leaves, the grass cutters say the
Spiit it apart and a monsoon lelight

- Shrivelled the siender stem

if needed; (2 Marks)

a.

c.
d.

..............

Even So.

The cherry tree did not take long to grow.
b. They destroyed the cherry tree.

The cherry tree had an instinct to survive.

This is a Nature Poem.

2. Complete the foflowing"'vxg'g - diagram:’ {4 M-a;fka) .

FAE

\

-i 'Thfeatss:'to the Plant J

g

I

. T

e

3. Ideniufy and explain thé figures of speech from the extract:
a. “Eight years have passed
Since 1 placed my cherry seed in the grass.”

Q3. pral‘lbIOH ()f Ideas
* (Attempt an) one Expand the Idea. Write 100 - 150 words)
et g, B Sl T e R

1. A Bad Workman Blames his Tools.
2. “Social Distancing — A need of today.”

Need
Purpose
Acceplance of the fact

- Awareness

- Roles & responsibilitiag

State whether the ,ql!owmg stalements are True or False. Correct the False statements

{2 Marks)

(5 Marks)




Q4. History of Drama: F¢ [ .3 lhe EJJWJ&S

1.
2

LS

The four main elements of drama are oo
The two types of dialogues are — _and
(revenge plays, monologue, music, soliloquy)

A series of events oceurring in a play is
( conﬂiét, dialogue, theme, plot)

The essence of drama is _

(theme, conflict, music)

, and

*—BE&? oF ju_dt'/

(4 Marks)

1 mark
1 mark

1 mark

1 mark

SV
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